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[EHS513] All of these are injury that  result from mechanical hazard except  ______
None of the above

[EHS513] The hazard created as a result of either powered or manual use of tools and 
equipment is called  ______
Mechanical Hazard

[EHS513] Which one among these will not cause chemical hazard?
carbodioxide

[EHS513] Which  of these does not help as safety in industry ?
None of the above

[EHS513] Machine associated risks mainly involve the following considerations except 
______
None of the above

[EHS513] Which of these is not a class of hazard
Physical Hazard

[EHS513] The most effective control of chemical hazard in hierarchy is ______
Elimination

[EHS513] All of these are examples of Personal Protective Equipment except ______
Rubber bad

[EHS513] One injury that can result from mechanical hazard is  ______
All of the above
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